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LLMMfil  n = 0.3(1-0.3)  x (1.96)'

(0.05)2

zz 0.3 x 0.7 x 3.84
0.05 x 0.05

* a'7u~u9i?~eil~  =. . 322.69 =323  L+dl+XJltU)
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s = 15

E zz 5

HWUh n = (1.96)2(15)2

(512
= 3.84 x 225

25

:.Tl7uauexh~ = 34.56 = 35 Fl'aOpilS (hJhJlq

3) QW n = N.f2.S'

N.E"+ i"S*

I6YlWil n = (5,000)(1.96)2(500)2

(5,000)(50)'  + (1.96)2(500)2

= 5,000 x 3.84 x 250,000

12,500,OOO  + 960,000

SI 401 75



= 5.000 x 3.84 x 250.000

13,460,OOO

:. oiUMhOh  = 356.61 = 357 flpd  (hJhJltU)
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p&S ill.I-JU

iml 500

2li7  2 450

iI% 3 300

iI3 4 250

33z.J 1,500 flu
-

Purdue fnftilua6M8majaPd i1Pdawn'aa~1s

1 500 (300/1,500) 100

2 450 (300/1,500) 90

3 300 (300/1,500) 60

4 250 (300/1,500) 50

maJ 300 FiaBh
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1 2 3 4 5 6 7 8 9 1 0

%wwwl3fl 60 5 9 62 5 8 6 1 60 5 9 62 5 8 6 1
,
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Sampling Error = u
v i i -

SI 4 0 1 8 3
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